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Compare labor - demand & labor - supply shocks

from labor - market diagram .
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- u is proiychal
* O is courage ]%hInFFybs .

⇒ predictions are counterfactual
⇒ H / labor - supply shocks cannot
cause business cycles ( im matching model)
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labor - demand
-

shocks .



Michailat ( 2012 , p .
1741 ) : elasticity of Q

wat to productivity is EI=
→
when productivity goes up by 1%

, tightness

goes up by 8% .

• elasticity of u wnt a is da x h

• elasticity f v wnt a is Eva x h

can we get EI of 8 in matching model
with rigid wages
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df
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- f
'
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equity f f with respect to n :

E!=dfne
n increases by 1% : what happens to f ?

dx = ↳ % a n

df = f
'
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← derivative of en
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Results about elasticities :

→ ef
proof. lnlf ) : L - ln@ → dld = L

denn

• fln) = Aln) x Bln) → hkn=E^ntEI
pnoofi lnf =

ln A t ln B

data! = doff
.
taff.



• flat -- Acn) / Bla) -safniean-EBJfpnoof.tnf = ln A - ln B

dfndenn -

- Eaten - that.
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Consider small change in productivity dlna
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-a) u dh€a = s - 4.a -
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• 8=1 :( wage & a : wage )

ddh÷ = 0 : no fluctuations
→

need somewhat rigid ways
to obtain

business - cycle fluctuations → 821
.

• 821 ( wages are rigid ) : dalida > O



→ necessity of #y to obtain business

cycle fluctuations in matching model

→
in data : wages are rigid ( 8=0.5)

so model can generate business - cycle fluctuations .
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Matdringmodelwilhbargainedwagewo.gebargaining solution : surplus sharing
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MPL . ( rt A O )
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bargained wage .

↳ . perfectly elastic labor demand

a horizontal labor demand .

↳ labor demand Od (a )

Labasuppeyohoki shook tho,
H

Hgoesugif
n

-

O
#

odt '

,
i

'

.

'

'

.

i

Hgoesupi



-

L T : boom / expansion ( X t )

-

O → rate
←

-

U -

- Sts t fl G)] u remains same

-

U
= u x H Ll T

-

V = O x u v remains same

-
T = v x H T T

→
0
,
u , v

are acyclic
→

not a realistic business cycle

: shock
,

to
aa in

Q n -

°
' En

'

Hifi:"'

,
I

÷
l l
'

,
I
,

>
L
#

t

t.ghgden.%da.gr : i -
- I It -m¥i±pD



Afteraninueaseihai.LT
: boom / expansion

-

O T : O procyclical
- { Y, tf : u counhercyclicd

In

- S x L = m ( Ll , V )
( inflows) t Mouflons)

→ µ, t : o pnogdicae

Under labor - demand shocks
, fluctuations have

realistic features ( qualitatively )
Noiapply stocks .

Objet : compute EF .

m:

rasco.at t -40514M¥ + parol]
study impact of an infinitee in

productivity : de-na



→
Generates infinitesimal change in tightness :
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den RHS = Era" .
dlna + Ero" . den 0=0
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O

First
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RHS

= Fe@ + Grote
• ✓

•

a third, combine results to compute EI :

-
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CA-p) atra)
demo = (r- p) -2 .-

-

froat me.AE(I-p)z#tr O) # ite

a .. htt)( (t - f) t t fact rot) ( labor demand)
If = K- plz + paltrow
✓ (t - p ) -

Z

E÷=t¥¥
•I : value from unemployment

2- = 0 : DIO = 0 : no business -cycle- dlna fluctuations
0
, L ,

u ,
o : do not respond

to productivity a .

Intuition : if 7=0 : W is proportional to a
→ w is flexible : W absorbs

fluctuations in a so Ed is independent for



Algebraically 7=0 ⇒ W -
- f and it rot

Laba demand relation : a = htt@ J W

⇒ I f- It 401] falling
⇒
r = fit -401 ] p Citro)
↳ independent of a

Shimer ( 2005) i Z= O - U
-

a= I ( normalization)
q = 0 . 5

p -- O - 5 ( tradition)
T -

- 3%
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A- = ¢ . 03) ( O - 2 t O '5 ft ro) )
r o
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- f÷o
,
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Calibrated value of daff ?
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1%9 = 2/3 ) 0 once 7702

BUTdf¥
Fluctuations in 0

,
U

,
✓ are Armed

smaller than in Us data .

→
Model with a, wage

function is inappropriate to describe

business cycle on labor market .

→
violates criterion # I for a good model

( Kuen )
see T. Bewley ( lggg ) .




